Addal247

HPTET MEDICAL PAPER HELD ON 17 NOVEMBER 2024

A FEACHER ELIGIBILITY TEST, NOV.-2024
TV -Ytanr (Question Booklet)

Series
PGT (MEDICAL)  Sr. No.:
(N-2416) 602773

I:EH =I.. (371 7O) Roll No. (in Fiiniros), + . e ) = :
Ul . (=1 ") Roll No. (in Worg — : -
Y : 2% HUe —— - S _ 150
T]T‘HE . 21':_‘ l’ & i > : g}

e o Maoximum Marks : 150
PLEASE READ THIS PAGE CAREFULLY, S ———

Ty 1 orrTydE w3

Note : Candidate shou Hove Ak ol S

apen !-his Booklet unl}l: :]::‘lrv'rlIa]l{:l:l:l::lll||‘r::{l1;:-1:~.llrl.:;'[-.tlclq:l::l- 2 - i e TT‘ITTIT BT SRS JRENE

superintendent and should thereafter check and ensupe | 11 ot ¥ gfrman @ e s @A F A

that this Dooklet contains all the 56 pages and Code yfafem 71 & 5 7l 56 7= R e

B o el Bioaiarcs |Gt B 2 TESerie T T

unprinh_-d p;igu.p.h_-;l::c ]1:1‘.'1:-1'1 I.'o[}'il;.'!':li:‘lll:‘l‘:zétﬁ:’}:l::: 8 ?IT.?-'rTF i 5 Gt TN W)
praEBECt I

you start answering. . | . . .
IMPORTANT INSTRUCTIONS : | R ol e
- . An L& L e (1 I S L L
1. The .-’.:1:5i'.'ur-:~llt-{-t of a candidale who does not IF TR-UFE A A AR w1 ATH 30 A 7 I
write his Roll No., or writes an incorrect Roll No. wflen W Wi fEm S ‘
I i ' SN

on the title page of the Booklet and in the space
provided on the Answer-sheet will neither be
evaluated nor his result be declared.

E-gfEE 150 54 € s uETE 5 WS 0 0
I
T T TE O FAE TEAATE 3T A @

rd

2. The paper contains 150 questions. Each question | 3.
will be one m;lrk: ) ) 4. w7 TWT #) TorE Ao
3. :’:jt;:ggt all questions as there will be no Negative v IR favaa fze faw or o f %7
h i
4 The questions are of objective type. Here is an (A)ST!IT'J:[ (13) =en
example- Question : Kashi Vishwanath Mandir (C) anmm ) (D) #frm ,
is situated in which eity? ; = YA 1 WA I Ao gnfern s - qfea 7
(A)  Ayodhya (B) Mm_hura Ftem (C) = A4 v @ TmTA fgu m Gl e A T
(C) Varanasi . Haridwar [ qu s &, S fE s v o i
The correct answer of this question Is Varanasi You h (A) (B) C) D)
will thercefore darken the circle with ball point pen
in column (C) as shown below: Q. O O . O
(A) (B) (©) (D) 5. WEE WY ) wad uF e I nls s wE i aheE
Q. '®) ®) (] O T F, T T W Wm0 TR e w6
fa S weEr, @z, @ faos w fer a

Each question has only ont correcl NNSWer. _Ir}*uu ¥
: it will be considered TIHT T Teld Az A

rve more than one answer, ; . . _ J N . —
{:'rong ind it will not be evaluated. Changing. | ¢ sfift o fe= wummwn o fiaEmm g
Cutting, Overwriting and Erasing of an T WE WA S

A = 1 ] ¥ 5 r. 5 e _ . . . :

answer will be ‘“-"'"’.d e i A ¢| 7. wE EE s Sme A @ 3d o  Frl ® fere wam

6. Assume English version correct in @ig@ o M g & (e S0 v w) 0E ar (e

any discrepancy between English and Iindi ) 3T IACTIF S T MUEASECSIA RS
version . I A T E

7. The space for rough work wherever Pﬂlmitlh.d "lH:y 8, @i s e 1 '1fm-r.l EA NG e A I FO TR (R S
' wodl Lo -

You aro natu o qreEna qfEE @ @ s e faa fae

w

be utilized by the candidate. .
i . A nawer-sheet for rough work.

e any portion of the Answer:s | wi b
8 ;JJULndul}nFu‘t:I:m.- this Bookletin any manner !"1|_'r|||u=l i 2 . |

. dnnngc!muljlatim: ay entail disqualification P 14 B 71 B T i T - B o A ST B v
3 [)‘u not leave your gent until the .!"Hllﬁ'.'.'t.'r-rﬂlll'l'l |l|lu\'l! R AL\ B B (£ eI o B £ B (1| TR T G
. . d thie exanmtinn. .

close of the « (VI B (e B R 1t T TR T G O EY SRR T

! cted at the .
been colle not leave the examinolion romn

Candidate will ly nfter he hi
e end time I8 over and only alter he has 1 3
till stipulated m cet to the stalTon duty, R @IE ) ad 2 A

handed over the Answ
I

wm um el @ o A g e T wea CTETTIR

er-sh



dell
Stamp


SIEC'[‘ION—'I : CII[L]] I'IHY
T

(A) Iegs

d
=<t
5. ﬂ,
K
£l

3. 1L.Q. T@ ®W F g e

M.A. 100
A

(A)

C.A.
M.A

»x 100

(B)

M.A.
C.A

x50

(C)

C.A. x50,
M.A

(D)

N-2416G-Series-A

(3)

1.
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el CHOLOGY & DEVELOPMENT PEDAGOGY,
TEACHING L1 ARNING PROCESS

L W ® fau uw ey uyz 2.

Another term for reinforcement
IS :

(A) stimulus

(B) reward

(C) response

(D) condition.

The

characteristics of any psychological

two most 1mportant

tests are validity and .............. :
(A) norm

(B) reliability

(C) simplicity

(D) complexity.

Formula to calculate 1.Q. is :
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(B) Elj\xmo_
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(A) F=A

(B) WEHIfeEH

(C) #f5=

(D) fafa=
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(A) Ta=rg

(B) I med

(C) a9m{+A

(D) 9= T

YAiERvi I we Al S e
W WYE TE 9Fd &1 38 Wimar
ST STTal %I

(A) AErTH  HHA
(B) 9fEda
(C) EVEICIERIE

(D) errafer  zfafwen

(1)

People Tost toueh with reahty when

thiex Q.
(A Psychopathic
(B Psychotic
(C) Manic

(D) Neurotit.

Which term refers to the
transmission of genetic
information from parents to

offspring?

(A) Evolution
(B) Adaptation
(C) Heredity

(D) Acquired traits.,

Environmental factors can
influence the expression of certain
genes. This phenomenon i1s known

as :
(A) Genetic modification
(B) Mutation

(C) Epigenetics

(D) Genetic engineering,
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(A) v BRI

(B) vl A =3
(C) 3mal =1

(D) 9% 1 =3

Fefafad 4 3 Fr-31 wa 32
(A) 3@l &1

(B) T Y&

(C) & 1 <o

(D) S|

S =37 yafar feg g TR fma
FTH S H yIfad @ 2, IHR
AT 9 FEAd €2

- -
(B) urffeafas
(C) Sfa=t

(D) SA-vgfarm  3d:fman
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Which of the following is an

example of a hereditary trait?
(A) Language pranciency

(B) Fear of water”

(C) Colour of eyes

(D) Fear of height.

Which of the following is an

acquired trait?
(A) Eye color
(B) Blood type
(C) Sun tan
(D) Height.
'
The study of how genes and the

environment interact to influence

traits is called ?
(A) Genetics
(B) Ecology

(C) Ethology

(D) Gene-environment interaction.

BRO.
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11,

12.
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(A) wiada

(B) Uirfas 944
(C) STaETIT Hal«
(D) SiA FaEEl

(oSS o1 &9 ¥ qaradeig Eatea
= YWE ® 9A & AiNeed W)

(C) =afFmd 3 va

(D) &fgdd =Afqaea 0|

(6)

10.

i

12;

What is the main source "I.“"'”'*i
i

varintion in a populntion?
(A) Mutation

(B) Natural selection
(C) Geneties drift

(D) Gene flow.

The ficld of study that investigates
the influence of environmental
factors on gene expression s

known as :
(A) Genomics
(B) Mc!ccular genetics

(C) Environmental genetics

(D) Ecological genetics.

Which of the following is @F
cxample of a shared environment

influence?

(A) Cultural upbringing
(B) Genetic mutations
(C) Personal expericnces

(D) Unique personality frits
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14.

15.

Which cortrols brenthing and
tligestion the portion ol bhady 18

eallotl .o
(A) Autonomic
(B) Lincar cireuit
(C) Axon

(D) None of these.

In part on classical conditioning
which of the following clinical

procedures are based?
(A) Two chair technique
(B) Token ;::connmy

(C) Transference

(D) Systematic desensitization.

What kind of ‘conditioning’ did

Watson experiment with?
(A) classical conditioning
(B) operant conditioning
(C) air conditioning

(D) social conditioning,



16. TA-F WO AW @i & A i} 16.  Which stage is profoundly dilTeren

FRU W agd I €2

from the others in the character of

its schemas”?

(A) Fa-HiE =
(A) sensory-motor stage

(B) q& dREme =1

(B) pre-operational stage

(C) 2| uftare =0 (C) concrete operational stage

(D) aiis gitames = (D) formal operational stage.

| 7 Hagl-ArR 9fg = Helg gm0 17.  What is the central outcome of

sensory-motor intelligence?

2?7
5 (A) The construction of knowledge
(A) TTfasa = T %1 A ; :
of reality

(B) The construction of material
artifacts

(B) |t Femgiadl w1 fAEm

(C) R &1 fmmm ’ (C) The construction of schemas

(D) The construction of

(D) Tgea w1 A equilibration.

1S, TG w9 formi @ e 18. Definition of abnormality which

3 g - e T 3 includes unhappiness contain
Tl stemeesmnmes aspect
(A) fa=eA S
(A) Deviance
(B) fewHmaT (B) Dysfunction
(C) €@ w Al {!TU F (C) Danger to self or others
(D) ddr4l (D) Distress.

N-2416-Series-A (8)
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(C) 3@+ Tl ¥ s
HEl

(D) W1 o1 = T=an

frafafas 9 9 =7 @ =ifags =
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(A) feg=t

(B) Wi

(C) SHwIEH

(D) dreEA|

aredd & fera <A F FEaaE &
ferg @ | arEE 7@

(A) TeTdar]

(B) WS

(C) wrIforh  HiEhfas

(D) Hged<|

19.

20.

21,

What the aspect of Child

development has evolved,

according to John Bowlby?

(A) the emotional bond between

infant and caregiver

(B) the
independently

ability to move

(C) separation from caregivers

(D) the desire to be a mother.

Which of the following was most
with the

structuralist school of psychology?

closely associated

(A) Titchener
(B) James
(C) Descartes

(D) Watson.

Watson both

contributed to which School of

and Skinner

psychology?

(A) functionalism
(B) cognitive

(C) social-cultural

(D) behaviourism.
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(A) =i

(B) GamTene

(C) faafspa

(D) ISR

T WM § fag wgg o+ s
(A) 9HEITe 998

(B) &% TYe &l

(C) fAg=m 997

(D) 9 B wE Tl
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(B) gfgmmn 3 faoen

(C) 39 & fem

(D) =faaa 3T =RR|

22.

23.

24,

Which field of psychology would

be most likely to study the

influence of over-crowding on

conformity?

(A) personalily
(B) cognitive
(C) clinical

(D) social.

In an experiment the group which

receives no treatment is called :
(A) Experimen£al group

(B) No group

(C) Control group

(D) None of these.

What are the two major factors
that contribute to individual

differences?

(A) Genetics and environment
(B) Intelligence and education
(C) Age and gender

(D) Personality and behaviour,
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(B) =ge=m®t fagra
(C) =AmiTH fagra

(D) afverar fagTa)
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26.

27,

Which theory sugpEests that

individual differences in behaviol
are primarily determined by

genetic factors?

(A) Cognitive theory

(B) Behaviorist theory
(C) Psychodynamic theory
(D) Heredity theory.

Which of the following is an

example of an inherited trait?
(A) Language skills

(B) Problem-solving ability
(C) Height

(D) Education level.

How

influence individual differences?

does the environment

(A) It determines all aspectsof an

individual's behavior.

(B) It has no impact on individual

differences.

(C) It interacts with genetic

factors to shape behavior.

(D) It affects only physical
characteristics, not behavioral

Lraits.
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(A) wgfa
(B) gigTm

(C) &
(D) o1

FA-T FF UF =301 5 59 e
AN THE I T F e =
[efiq =tar 22

(A) =AfFaT

(B) Ffgma

(C) @

(D) w{om|

AR WG H ST TR '
Al iAW F WY FE @ w2
(A) EQ (Wr&aTreqs  37qHr)

(B) 1Q (Ffgwar srqam)

(C) SQ (wmifsrr 317AT)

(D) PQ (YMIR® 37HM)

28,

29.

30.

What is the term for the unique
pattern of thoughts, feclings, and
that

individual’s personality?

behaviors make up an

(A) Temperament
(B) Intelligence
(C) Attitude

(D) Trait.

Which factor refers to an

individual’s ability to acquire and

apply knowledge?
(A) Personality
(B) Intelligence
(C) Attitude

(D) Motivation.

Which of the following is a measure
of intelligence often used in

psychological assessments?
(A) EQ (Emotional Quotient)
(B) 1IQ (Intelligence Quotient)
(C) SQ (Social Quotient)

(D) PQ (Physical Quotient),
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SECTION-T]

P GENERAL AWARENESS INCLUDING IHIMACHAL

PRADESH CURRENT AFFAIRS & ENVIRONMENTAL STUDIES

T W 9EEl 3w @ wf
FH A2

(A) THT vl
(B) =
(C) I =9

(D) Fidaa e qu facax w22l

TEE MH & Y FE 9l 9895
T BH T 8?2

(A) <9
(B) AHTI=1
(C) TS

(D) =4I

v faza w1 GeAra Siad awen <9
FHA-T1 87 '

(A) 357
(B) 1=
(C) wid

(D) \rdl

31,

32.

33.

Who was the first person to fly by

acroplane?
(A) Rakesh sharma
(B) Plato

(C) Tony Jannus

(D) Orville wright and Wilbur
wright.

Which is the First country to

introduce the National anthem?
(A) Japan

(B) America

(C) England

(D) Russia.

Which country won the first World
cup football?

(A) Uruguay
(B) Argentina
(C) France

(D) India,
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36.

v wem wfeen uweufn ad o)
(A) wfaw =t fae wifew

(B) swen #fm

(C) MIRA T=en A

(D) Tg=imen gfa=m

fava ¥ Ta8 791 Sea w0 W 22
(A) HT@ e

(B) WA =ed

(C) o=y ===

(D) §=1@3 =eal

oiy T aren &9 & 41 €72
(A) =6 #X WA

(B) WA R A

(C) A 3t &7

(D) @ife =i =

4
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36.

f 1A N

Who was the Wt

ent
[iral

president in the Waorld?
(A) Pratibha Devi Singh Patil
(B) Kamala Harris
(C) Maria Estela Peron
(D) Lyudmila putina.

3.
Which 1s the largest delta in th
World?
(A) Neel Delta
(B) Raine Delta

(C) Sindhu Delta

(D) Sundarban Delta

G

Which country touches the borde

of most nations in the World?
(A) Russia & France
(B) France & China
(C) China & Russia

(D) America & Russia.
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39.

A S TR vy
T foen?

1 AlA

(A) 1969 %,

(B) 1979 %

(C) 1978 3.

(D) 1.968 3

'TEHR A W e TEE @
d@F w492

A) &t f@w fae

(B) 1 3ag

(C) #ft s =R

(D) &ff ared faerl Sl

HO Hiaal Gag wa 7 S
2?

(A) 2 feg=x 1999
(B) 2 fegw=t 2000
(C) 2 feg=t 2001

(D) 2 feww=x 2002.

2

38.

39.

| i o Teresa Was
In which year Mother Teres:

awarded the Nobel Peace Prize?
(A) 1969 A.D.
(B) 1979 A.D.
(C) 1978 A.D.

(D) 1968 A.D.

Who was thc author of the book

Titled ‘Three Decades of

Parliament’?

(A) Sh. Dinesh Singh
(B) Sh. Dev Saina
(C) Sh. Dinesh Kumar

(D) Sh. Atal Bihari Vajpayee.

When is Computer literacy day

celebrated?

(A) 2 December 1999
(B) 2 December 2000
(C) 2 December.20()1

(D) 2 December 2002.
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41.

42.
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wRa ¥ gum wd e fe faern?
(A) wisl o<

(B) ©ig Semw@is

(C) =izl

(D) 3 H

TG & Yool Hegl 9Y i T H4
B3

(A) 1885 3.

Anl,

(B) 1890
(C) 1892 3.

(D) 1893 3.

v § snygfre faan woeh @1
w49 Ugi?

(A) 1835 3.

(B) 1845 3.

(C) 1855 3.

(D) 1865 3.

41.

42.

\ (16)

Who laid the first Railway line

India?

(A) George Clark
(B) Lord Dalhousie
(C) Plato

(D) Aristotle.

When was the first Trade union

India established?
(A) 1885 A.D.
(B) 1890 A.D.
(C) 1892 A.D.

(D) 1893 A.D.

When did the modern Educatic

system start in India? :

(A) 1835 A.D.
(B) 1845 A.D.
(C) 1855 A.D.

(D) 1865 A.D.
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45.

favg H YUYW G T el

F6l 9F T2 |

(A) TF ¥ e %
(B) ¥9 ® WA T
(C)Eﬁ‘—f q eifamed a&
(D) @ishHIfed | g9 &l
R TE &R H ghe ¥ fawd
1 gER Tie S0 HE-T 87

A) & fad

(B) @At fadd

(C) e fgd

(D) dafews gl

43.

44,

45:

©(A) Aurangzeb

Who called Shivaji a hill rat and-a

daring dacoity?

(B) Akbar
(C) Hu%ayun

(D) Babur.

From where ‘I:-L where did tl‘;e

World is first Railway line run?
4

(A) Russia to America

. (B) Russia tp Japan

(C) Stockton to Darlington

-

(D) Locomotive to Tram.

Which is the smallest country in
the World in terms of population

and area?

(A) Nauru City

(B)' Monaco City

—

(C) Malta City . _

. (D) Vatican City.

- &
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e win mm 9 T OTE TR

WA wiw W )

(A) 1953 |/ 1963

(B) 1953 & 1964

(C 1952 |/ 1963

(D) 1952 |/ 1964.

fear=a o & wun mmae w98 92
(A) 5t T&. ==

(B) &1 faoq =ia wmet

(C) &mfa dum, w0

(D) TR Fwmadil

e o g fead &t

31 )
(A) HER =97
(B) zHIT &%

(C) #9497

(D) #TeH A%l

47.

48.

(18)

From when to when Himaehal

Pradesh beeame a union territory”
(A) 1953 to 1963
(B) 1953 to 1964
(C) 1952 to 1963

(D) 1952 to 1964.

Who was the first Governor of

Himachal Pradesh?

(A) Sh. A.K. Banerjee

(B) Sh. Vishnu Kant Shastri
(C) Smt. B.S. Rama Devi

(D) S. Chakravarty.

Who established the Hamirpur

district?

(A) Sansar Chand
(B) Hamir Chand
(C) Abhay Chand

(D) Alam Chand.



49. I T W fagg)f
A T e =pramn 49.  Who built the victoria bridge over

o1?
the Beas river?
(A) &R ¥ (A) Vir Sen
(B) 9=t w7 (B) Ajbar Sen
(C) w&qwr oy (C) Laxman Sen
(D) T fawg faw (D) I}aja Vijay Singh.

50. Tewraa W 4 @y T A 4@ T | 50.  In which year the principle of No

F1 fagia 59 ad =R fvg w work No pay was accepted in
iy 1‘ . Himachal Pradesh?

(A),1988 3. (A) 1988 A.D.

(B) 1989 %. (B) 1989 A.D.

(C) 1990 %. _ (C) 1990 A.D.

(D) 1991 %. (D) 1991 AD.

51. fauner fearae ®t SO 9 TE2 51. When was Vishal Himachal

established?
(A) 1 TI=E 1963

(A) 1st Nov. 1963

(B) 1 Ta=t 1964
(B) 1st Nov. 1964

(C) 1 Ta=l 1965 (C) 1st Nov. 1965

(D) | sa=t 1966. (D) 1st Nov. 1966

N-2416-Series-A (19) FT0.



SErEHal w1 HY T Tan Wr e
FeTaell TS 68 % a9 fam o
T un?

anky

(A) 1806

nly

(B) 1807

A,

(C) 1707
(D) 1809 3.

77 |

mlﬁiﬁﬁ el @l

(B) Fad €% el @l

(C) Fard =®E Jeal @l

(D) FwIfea well @l

r
fenrae wewT 9 Y=igal & W¥H 999 | 57.
F4 ga?
(A) 1973 3.

(B) 1968 %.
(C) 19773 ¢

(D) 1975 3.1

N-2416-Series-A

(9]
n

(21)

56.

In which year did the treaty of
Jwalamukhi take place between
Raja Sansar Chand a nd Maharaja

Ranjit Singh?
(A) 1806 A.D.
(B) 1807 A.D.
(C) 1707 A.D.

(D) 1809 A.D.

was the last Mughal

Who

character of Kangra fort?

~(A) Nawab Ali Khan

(B) Nawab Saif Ali Khan
(C) Nawab Asad Ullah Khan

(D) Kochi Quli Khan.

When where the first election to
the Panchayat held in Himachal

Pradesh?
(A) 1973 A.D.
(B) 1968 A.D.

(C) 1977 A.D.

(D) 1975 A.D.

P.T.0.
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(A) 400 ®. ¥ 6000 .

(B) 500 #=H. & 7000 W

(C) 300 . | 8000 =TI

(D) 350 = | 7026 W

=1 fmm feas =@ an?

(A) ®RE

(®) wsa ;_

(C) 98 9%

(D) =il

‘el w1 u! g fenee B S
frm foa o feem 22

(A) ==

(B) #ee]

(C) T
(D) 311

(20)

h2,

53.

4.

The height of the are of | liniach,
i

Pradesh ranges trom Lo, Mhitgyy

meters Lo how muy metepy i oy
¥

sea level?

(A) 400 m to 6000 m
(B) 500 m to 7000 m
(C) 300 m to 8000 m
(D) 35|IO m to 7026 m.

Who built the famous temple of

‘Bilkeshwar Mahadev’in Nadaun?
(A) Kaurav

(B) Pandav

(C) Sansar chand

(D) Susharma.

‘Shiven than' temple is located in

which district of Himachal

Pradesh?
(A) Chamba
(B) Kullu
(C) Kangra

‘(D) Una.
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ard,

(A) 1940

rl,

i,

(C) 1939

(D) 1927 %

9. femraa WO ¥

(A) 1950 3.
(B) 1951 Z.
(C) 1991 3.

(D) 1963 %

60. T a% 21k acg frwrem H @A | 60.
a9 wga feurget & AW @

aq1?

(A) 1. Tz T
(B) few1 =iem

(C) s re dtud. Imi

(D) =vrsfa fae)

N-2416-Scries-A
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59.

\\’I’I'II Ell{l JFannmn=-- R SLA LY '8 |l1r_,l,

|”||||}|'l1:'

(A) 1940 AD.
(3) 1940 AD.
() 1939 A.D.
(D) 1927 A.D.

When did Himachal Prag

became the first state in
country to impose Sales taxin
first phase?

(A) 1950 A.D.

(B) 1951 A.D.

(C) 1991 A.D.

(D) 1963 A.D.

What was the name of the f
Himachali to find a place

Guinness Book of World recore
(A) Dr. Rajendra Gupta
(B) Dicky Dolma

(C) General B.S. Sharma

(D) Charanjit singh.
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SECTION-111 : BOTANY / ZOOLOGY

niEm IR e fain o wofge | 6L

2

(A) W3
(B) UzAIAIMA
(C) UTfaasm

(D) ATZEEN)

Wi T & w62,

T 22

o

A T fZas frmg A o 87 | 63.

The Golgi npparatus is involved in

the formation of :
(A) Mitochondrna
(3) Ribosome

(C) Peroxisome

(D) Lysosome.

The flexibility in plants is due to

the presence of :
(A) Collenchyma
(B) Parenchyma

(C) Sclerenchyma

(D) Aerenchyma.

The Husk of coconut is made of :
(A) Parenchymatous tissue

(B) Sclerenchymatous tissue
(C) Collenchymatous tissue

(D) None of the above.
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g di?

(A) 1806 7.
(B) [807 g.

(C) 1707 %.

(D) 1809 %

o1’ |
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(B) FAA ¥ e @l

(C) FaTd 37{g Il

(D) Fifed el @l
{
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(A) 1973 <.

(B) 1968 %.

© 19773 .

(D) 1975 2,

o
[

06.

a7.

(21)

In which vear did the treaty of

Jwalamukhi take place hotween

Raja Sansar Chand and Maharaja

Ranjit Singh?
(A) 1806 A.D.
(B) 1807 A.D.
(C) 1707 A.D.

(D) 1809 A.D.

Who

was the last Mughal

character of Kangra fort?

(A) Nawab Ali Khan

(B) Nawab Saif Ali Khan

(C) Nawab Asad Ullah Khan
(D) Kochi Quli Khan.

When where the first election to

the Panchayat held in Himachal

Pradesh?

(A) 1973 A.D.
(B) 1968 A.D.

(C) 1977 A.D.

(D) 1975 A.D.

Ba0.



76, W{fﬂ Y A% - 70. Dikaryon means:
(A} wE wem o B g (A) ITwu Nucléi per cell
(5 wE w=vpR o 3 S (B) Two Nucleoid per ceH:
(Cj) T w1 4 3w (C) Two Nucleus per cel]-E

(D) Zun= A 4 18 F70) (D) None of the above.

91, wrkeTz % A e E wea waem | 71, The dominant phase in

wh 2 cycle of bryophyte is :

(A) gromife (A) Gametophyte

(F) THTITRIEZ (B) Sporophyte

() =l (A) #T (B) (C) Both (A) and (B)

() T 0 @ wE Eral (D) None of the above.
3. WE YA W, 1 - 72. . Mpycorrhiza is present in:

(A) TTEET (A) Cycas

(B) nz8 - (B) Cedrus

(C) T Y (C) Pinus

(1) TFEgN (D) Ephedra.

N-24106-8erien-A (26)




(RNA et Ihl e ¢ 3. The site for rRNA synthesis is
A) BE® (A) Nucleus
) R ’ (D) Nucleolus
) mesfiETa (C) Golgi bodies
) GIHTH (D) Mitochondria.
G717 ¥ o WA & O v WY | 74, How many types of amino acids are
Sl present in proteins?
(A) 16 (A) 16
(B) 8 (B) 8
(CY 20 (C) 20
(D) 14. (D) 14.
ﬁm’ﬁf@ﬁﬁﬂﬁqﬁm fefgi | 75. Which of the following is the
7 27 structure of Zwitterion?
¥ r
(A) HN*-CH-COOH - (A) HgN* -CH-COOH
R I
(B) H,N*—-CH-C00" : (B) HsN*-CH-CO0"
R .
(C) HEN_CH_CDD“ (C) HEN—CH—COU-
R i
(D
) H,N_CH-COOH.- - (D) H,N-CH-COOH
Ny
l§g .
SEHES. A (27 ) P.T.O.
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78.

N-2416-Series-A

" AR vamen o w) iy w8 sren o

351 W 3w & 3w e

(A) Argaidiy

(B) grawdy

(C) SAzam

(D) =gy

DNA %! wirpfa feg wraeen 3§ =t
&2

(A) G, wrEeen

(B) S wrwen

(C) G, wraEen

(D) G, grareen|

At fauem-1 &1 frg waeen o
forerTe vy T 22

(A) fguee
(B) 9guee -
(C) gz

(D) ®=auz|

|

76,

77,

78.

(28)

Enzymes that catalygeg pd

together of two com; e,

called |

(A) Isomerase
(B) Transferases
(C) Lyases

(D) Ligases.

Replication of DNA

during :

(A) G, phase
(B) S phase
(C) G, phase

(D) G, phase.

Synaptonemal complex is formed

during which stage of meiosis—I ?

(A) Diplotene
(B) Leptotene
(C) Zygotene

(D) Pachytene.
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(C) 3T

(D) Ut

rﬂfﬁﬁmmﬁlﬂ?mﬁﬁvm

&

Feol o
(A) fwoaa
(B) TEmEERICEEd
(C) weryl YaE1

(D) wFrr Wyl

79,

80.

81.

(29)

Which is the most abundant plant

pigment in the world?
(A) Chlorophylla
(B) Chlorophyll b
(C) Xanthophyll

(D) Carotenoid.

The first CO, compounding fixation
product formed in calvin cycleis:

(A) ATP
(B) PGA
(C) OAA

(D) PEP. '

The Breakdown of glucose to

Pyruvic acid is called :
(A) Fermentation
(B) Glycolysis

(C) Photorespiration.
(D) Photosynthesis.

P.T.O.




82.

83.

S4.

N-2416-Series-A

¥4 9\ EET H wgEd gt ¢ ol
R.Q. T 2:

(A) 1.0 8 =g
(B) .0 | ==
(C) 1.0 & =U=T

(D) 0 & =TaaU

W T TR TR 9w um w a
q Wi w dm dndfem ® fag
wfea wTm €2

(A) siffgers
(B) uftreita
(C) faditfe

(D) vfesfx ofie

eyt WY e srfte
wm od ¢

(A) ST

{B) Exaifoon
(C) T=

(D) =%=% i3]

82.

83.

(30)

(D) Middle layer.

R.Q. when fats nru"“:’ ¥

respiration is:
(A) Less than 1.0
(B) More than 1.0
(C) Equal to 1.0

(D) Equal to 0.

Which hormone promotes -'_.'-’i_'-
clongation in deep water rit

plants?
(A) Auxins *
(B) Ethylene

(C) Gibberellins

(D) Abscisic acid.

The innermost wall layer ¢

Microsporangium is :
(A) Epidermis
(B) Endothecium

(C) Tapetum




(D) QM|

qeg @ fEE AT BRI W WY
iq @M @ CO, i W I €

(A) g&1 UH
(B) wi  ferad
(C) U

(D) =TEIee|

fva o feam e =T e

e

85.

86.

(31)

The presence of starch in leaves

indicates the occurrence of :
(A) Respiration

(B) Photosynthesis

(C) Photorespiration

(D) Nutrition.

Which part of the plant takes in

CO, from . the air for

photosynthesis?

(A) Root hair

(B) Leafveins

(C) Stomata

(D) Petals.

World water day is celebrated on:
(A) 25 April

(B) 22 June

(C) 22 March

(D) 14 September:

pP.T.O.
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89,
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RGBT
22

(A) 21%
(B) 30%
(C) so%

(D) 75%

wﬂﬂm:im&!mﬁm
VT W ol w e g $)

(A) ™ '
i Bt

() #u

(D) =y

f"‘:il.‘: XY P gy T -
*-

89

(32)

How much area is undep g

cover in India?
(A) 21%
(B) 30%
(C) 56%

(D) 75%.

Leaves of which plant are use

storing food grains at hnmef_;
(A} Mango
(B) Peepal
(C) Neem

(D) Banana.

Citrus canker disease is cause

by :

(A) Virus
(B} Bacteria
(C) .Fun;i

(D) Animals



e s uFEe YRE e g | 01,

terfen o g
(A) Aaifom

(B) T

() fawm

(D) wrEratsmy

R

L frew T D

R TR S R om yawy | 93,

(33)

92

&

The Book ‘Gait of Animals’ is
written by :

(A) Darwin
(B) Lamarck
(C) Aristotle

(D) Crick.

The causative agent of Hepatitis

Ais:

(A) Bacterin
(B) Fungus
(C) Virus

(D) Protozoa,

Which of the following sea animals

do not have gills for respiration?

(A) Fish
(B) Whale
(C) Prawn

(D) Shark.

P.T.0.




| fin m feny wnts ] uetee 5= ¢ 7] Rile juiee helps n the &5

[} of |

(A) wRlends (A} Carbohydrates
(" vy (B} Proteins

() wm (C) Fats

(D) fazf ‘ (D) Vitamins.

Qs. = =l it @ wraa T o 95. Human body can not diges?

Hahal:
(A) Starch
(A) =T
s (B) Proteins *
(B) w12
(C) Fee (C) Cellulose
i (D) TH (D) Fats.
96. @ H vaEI o € 96. Respiration in insects occurs by 3
(A) WS Rl (A) Lungs-
(B) TaTFE B - (B) Gills
(C) yamyoel §r (C) Trachea
(D) ©==1 Bl (D) Skin.
N-2416-Serics-A (34)
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() At Siange wika e
(B) WAH SEngE uwiid am
(C) TR WEHgH WikW e
(D) 73w SEHge Wi e
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(A) QTR AferRId

(B). weledt wifwrsg

(C) wifgn =iferg

(D) guv1 wiferrtl

YAg (FifE wgfean) Tifad &
£

() TFTHTE

(B) wree

07,

98.

99.

(35)

Indian ginnt squirrel 1 endemie

faunn of which place?

(A) Nilgiri Biosphere reserve

(B) Manas Biosphere reserve

(C) Pachmarhi Biosphere reserve
Biosphere

(D) Nanda Devi

reservo.

In Humans each testis has about

250 compartments called :
(A) Seminiferous tubules

(B) Sertgli cells

+ (C) Leydig cells

(D) Testicular lobules.

Corpus luteum secretes :

(A) FSH

(B) Progesterone

(C) LH

(D) Testosterone,

P.T.O.



Which hormone cnuses stron

100. W ®W el gwa % wm i | 100

contrnctions durin

i T Wﬁ w872 uterine
parturition?
(A) wEET
(A) Progesterone
(B) TaqH
(B) LH
(C) ST (C) Oxytocin

(D) Vasopressin.

(D) e
g § ‘uf@r e w101 The ‘Family planning’ progra
was initiated in India in the year

101.
frm ad yamg fem T =@/

(A) 1955 A.D.

(A) 1955 %

(B) 1976 3. (B) 1976 A.D.

(C) 1951 % (C) 1951 A.D.

(D) 1974 & (D) 1974 A.D.

02, @fzg sy sreT wem fem [ (102 Central Drug Research institute

& situated at : .
(A) 73 faeet ‘ (A) New Delhi

(B) ATty _ (B) Bangalore

(C) ?:'EMEI (C) Chandigarh "
(D) EETFI (D) Lucknow.

’N-E-i 16-Series-A (36)
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(37)

104

105.

Which of the following s Copp=r

relensing intrauterine device”
(A) Lippes Loop

(B) LNG-20

(C) Multiload 375

(D) Propestasert.

How many chromosomes arc

present in female honey bee?
(A) 8
(B) 18
(C) 32

(D) 16.

Which of the following is an

- autosome linked recessive trait?

(A) Haemophilia
(B) Sickle cell anemia

(C) Colour Blindness

(D) Down’s syndrome,

P.T.0.



106, T & ayfr g o w7 €
DNA has bp :

(A) 4.6 — 105 M0 IR (A) 4.6 -106bp

(B) 48502 #t ™™ (B) 48502 bp

(C) 5386 &Mt ™ (C) 5386 bp
f
(D) 3.3 x 109 WX FHI (D) 3.3 x 109 bp.

107. Who proposed central dam

(07, fpm smfas <@ fEm @ O

molecular biology?

(A) Watson and Crick

(B) frent (B) Miller
(¢) wifrn f@® (C) Francis Crick
(D) frta (D) Nirenberg.
05, wEZ N TEa FE @ E: 108. The Codon which hasdill
is :
(A) GUG
(A) GUG
(B) AUG
(B) AUG
(C) UGA
(C) UGA
(D) GUC.
(D) GUC.

N-2416-Series-A (38)




(A) 2001
(B) 2002
(C) 2003

(D) 2004,

oy FfeEmem 4 fem
wrr g W ST HEE e @2

Y 1000
i 200
400

I 2000

Lo aEEE T IR
fwaq &7

RECEET-co

D) g sy SEEnl

-5

109,

110.

111

(39)

Human Genome project wak

completed in :
(A) 2001
(B) 2002
(C) 2003

(D) 2004.

A typical nucleosome contains how

many base pairs of DNA helix?
(A) 1000

(B) 200

(C) 400

(D) 2000.

DNA
initially

The
fingerprinting

technique  of
was

developed by :

(A) Alec Jeffreys

" (B) Beadle and Tatum

(C) Garrod

(D) Temin and Baltimore.

P.T.O.



112, frderue uem @t wfioee o anan

T
(A) 650-800 ¥wh
(B) 1200 €l
(C) 1400 H
(D) 1500 w1

113, W= @ v F stiE @
3w H uUEEae ® fagsT #®

T 2
(A) 3T
(B) dfsew st
(C) Herid
(D) Thafew 2|
114. ‘Shag=a’ W few far
(A) Ta2 &5
(B) di3aTei®

(C) fat=n

(D) wfdst

N-2416-Series-A

112

113.

114,

(40)

The Drain size of Neanderthal

wian nbout :

(A) GLhO-BOO CC
(B) 1200 CC

{C) 1400 CC

(D) 1500 CC.

The Anaerobic breakdown

Pyruvate in Human muscle

produces :
(A) Ethanal

. (B) Lactic acid

(C) Methanol

(D) Acetic acid. 1
!

Who coined the term ‘Pmtnp]asn*j'
(A) Robert Hooke 1|
:

(B) Leeuwenhoek j
, i

(C) Virchow d
i

(D) Purkinje. ]
|
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(41)

115,

116,

117.

Lgament eonpeets .
(A) Bone (4 Muscle
B) Bone to Bone

(C) Muscle to Muscle

(D) None of the abaye.

Antibiotics are not effective

against :

(A) Virus
(B) Protozoa
(C) Fungus

(D) Bacteria.

Which of the following is not a

Communicable disease?

(A) Tuberculosis

(B) Chalera : |
(C) Cancer |

(D) Chicken pox.

P.T.O.



118.

119,

120.

N-2416-Series-A

. v W verst @ wft wr areh
wftrfarai ek 2.

(A) IgA
(B) IgM
(C) IgG

D) IgE.

Wmiﬁfw:[m%:
(A) FarEm =afefasn
(B) TEqfeer® gsi

(C) wHEFR wHEd
(D) A=dfaea!

rdfg fammrd @ w5 e
(A) 31a
(B) &%3

(C) 7Fa |

(D) &=4I

(42)

118. Tho type of Antibodies prody

119.

120.

agninst allergy in Human peog

aroe :

(A) IgA

(B) Ig M

(C) Ig G 1

(D) Ig E.

Butyric acid is produced by :
(A) Clostridium butylicum
(B) Aspergillus niger

(C) Acctobacter aceti

(D) Lactuba:cillus.
The disease ‘Cirrhosis’ damages :
(A) Intestine
(B) Lungs
(C) Liver -

(D) Heart."
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121.

122,

123.

(43)

Re-newable natural resourte is :
(A) Air

(B) Petroleum

(C) Coal

(D) L.P.G.

Which product is not obtaifed from
coal?

(A) Coke

(B) Petroleum

(C) Coal tar

(D) Coal gas.

Which of the following has lowest
ignition temperature?

(A) Wood

(B) Candle

(C) Gasoline

(D) Kerosene oil.

P.T.O.
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(A) far walaA
(B) urgwH

(C) faqa @

(D) faga s

= Fren = T 87
(A) Wifas H+9Es
(B) TEHI HGUBE
(C) ®E= 3FmEe

(D) z79 g &2 e

126. FM T IUH WA 99 W G o6

#7

(A) wEE
(B) =it
(C)
(D) sEF

N-2416-Series-A

s, N

125, HE-m AfTE o9 fOeEs ® AT

(44)

124.  Which of the rn"-_:;

125.

126.

used to prevent imﬁ 3

e
(A) Electric comp;, o
(B) Mﬂtﬂ“urgy ;

=0

(C) Electroplating

(D) Electro-ref I‘Iing._ h

I
Which campuund ...‘,

litmus solution mtu blug
(A) Metallic oxide :

(B) Sulphur oxide

(C) Carbon oxide

¥ -
l-f:

(D) None of t.hese B

”l _-!
Which non mei_:'ii% 1q

ordinary tempe,g_'; 3
(A) Fluorine ‘
(B) Chlorine
(C) Bromine

(D) Iodine.
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127. Spinnerette is used for :

(A) Bleaching

(B) Dyeing

(C) Rayon

(D) Making fibre.

'128. Whichis a Biodegradable material ?
(A) Metal

(B) Plastic

(C) Paper

(D) None of these.

129. Thedark zone of candle flameis:

combustion
(B) Zone of partial combustion

(C) Inner zone

(D) None of these.

(45) P.T.0.

(A) Outer zone of complete




130

131.

T @ st o v ) frin fs
W e fam f9

(A) W-vr wsim
(B) avefin oyl
(C) faya-awry

(D) 3vdan ¥ A w98

M W WA arfuw weeen W ur

- (A) wTEA

(B) =13eeM
(C) 3ffdT=H
(D) fafesria

YR FH T FoE wET B
2

(A) TWRAT w1 TEm 4 =€1§T:ﬂ"-

w1 HE

(B) =21 & W&y + gt &1

HET
(C) wighHi * Fen

(D) =it &t ge

110,

131.

132.

(46)

(A) Carbon

=

Whnt nnmo jg Kive
n [.-_.u‘

incrensoe of Enrth's tom b\

(A) Groon Houge efTeey

(I3) Acid rain
(C) Gluhulwnrming

(D) None of the above,

The most abundant element ¢ -
in the Earth'’s Crust js -

(B) Nitrpgen
(C) Oxygen

(D) Silicon.

equal to :

(A) number of electrons+ ':-'

of neutrons )
|
|

(B) number of neutrﬂﬂs"f |

|
of protons e

(C)

number of protons

(D) number of neutrons: 8
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134,

135.

N-2416-Series-A

L s W W A e

R

111)“3?“%

() smafEfia @ @
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(B) wHEERSE |
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(D) ®Eil

133.

134.

135.

(47)

With the increase of preasure,

the boiling point of water :

(A) incrensct
(B) decreases

(C) remains unchanged

(D) None of the;i;-.
Artificial sillk is made from :
(A) Protein

(B) Carbohydrates

(C) Adipic a-::-idl

(D) Cellulose.

Which of the following component

is also called as }:ﬂack gold?
(A) Bitumen

(B) Diesel

(C) Petroleum

(D) Coal.

P.T.O.
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(A) Wi

(B) =ten

(C) fuzrdt =1 d=
(D) HL.@E. s

137,

| 29 A FH-T W v e 2
(A) T TEATFES
(B) =3

(C) FTH7 "R

(D) VT TaTEne)

——— i ——— . . —

(A) CFC *
(B) CCF

(Q) FCC

W A g e s

138.

(D) 3R % § = 7

N-“Zfll 6-Series-A

(48)

137.

136, Which is the leas

Pollute
(A) Petrol

(B) Coal

(C) Kerosene

(D) C.N.G.

Which gas is produced durn,
incomplete combustion of foelsiy, |

* petrol and diesel?
(A) Carbon dioxide
(B) Nitrogen
(C) Carbon monoxide

(D) Sulphur dioxide,

Refrigerators, Air conditia
Aerosol sprays have ...

pollutant.

(A) CFC
(B) CCF
(C) FCC,

(D) None of the above.



o, w-H AW T A SRR wem | 139, Which gas has the ability to
F UHA N FH w27

decrease the intake of Oxygen in

: (A) Nitrogen
(B) FMEA SHTRS
_ {B) Carbon monaxide
W by (C) Carbon diexide
(D) St (D) Oxygen.

0. e § fre A R fewe w0 A | 140, Which of the following deficiencies

W 'ﬁ"'lliﬂﬁ! '!-'?. in Food causes night-blindness
. disease?
(A) WA
{A) Protein

(D) =m

. (B) Fats
(C) Praitier A (€ Vitasiin A
(D) fFafi C. (D) Vitamin C.

141. fee ¥ FIW@ § WA 93 9@ | 141, The number of atoms present in a

i f.c.c. unit cell is:
(A) 6 (A) 6

(B) 8 (B) 8

(C) 4 (C) 4

(DY 12 (D} 12,

N-2416-Series-A (49) P.T.O.




142. 4R fozia sm &7

(A) T F1 FA (Reduce), Frfe

(Refined), g7:9%9 (Roecycle)

afkx I ?TF'-':'I‘ (Recover)

(B) Seurgq &9 & (Reduce),
Y3991 (Reuse), TT:THT
(Recycle) 31T : Wt (Recover)

{Refined), [ 9&0 {.Rucycle]

3i 3: Wi (Recover)
(D) T & @ 7E
143. wifeaw &1 9@ & oy f&a 2:
(A) vt
(B) da

(C) fFgmEna

(D) +%t YTH &7 9ty

N-2416-Series-A

(C) Tt U1 %1 (Regenerate), é’f’ﬁ

(50)

1492. What is 4R principle?

A

143.

Z
o
i

(A) Reduce, Refined, Recycle ang

Recover "
=

3

« |
Ll

(B) Reduce, Reuse, Recycle ang :*

Recover

(C) Regenerate, Refined, Re f'l

and Recover

(D) None of these.

The reaction of Sodium wi
water is :

(A) Slow
(B) Fast

(C) Inactive

fast.



[ "

- g ® Sy, e s s
A wfa T 2

(A) wifem
(B) Wifram
-(c) K|

(D) wrstam|

145.

ﬁﬁ%ﬁ@m % ' wiF-® &
g v 872 |

(&) raifer
(B) tfgfeei
“(c) fas
(D) SWiE Aut|
46. e A T FR-T EH 9w 27
(A) 3ga Wi
(B) SEvgw W&
(C) 7] TRITIRE I IF vl

{D)_:qiaiﬁ'm JAEEe o Wl

- N-2416-Series-A

(51)

144, Which metal don't react with air}

water and acids?

(A) Platinum
(B) -Mngnasiurn
(C) Iron

(D) ISudium.

following 18

145, Which of the

Flammable sulstance?

L]

(A) Gasoﬂ‘qa -
(B) Acetylene

(C) Methane

(D) All the above.

146. Which of the following is an
.

insulétur.?‘

(A) Pure water
L ]

(B) Salt water

(C) Water containing dilute
hydrochloric acid

(D) Water containing potassium

iodide.

P.T.O.
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whe.mn serwe wd 8 gz e @
T fewn s §°

147

(A) Fves oY
n s=Aifs
) ==t

() Tutisa ofy

18k, O3 wm 7 HEaw P

(A W
(B) T
(C) Te

(D) Tm.

uE # 4fezn & fod fm o 4
faq AW & fagw =1 syam fem
T 27

149.

(A) #FTT + TEGEA

(B) 2= + #79 Zrsianms

(C) s + fnea

(D) FFT 4 ufnfee

2416-Series-A (52

4:-"*'.4

14

148.

149.

‘“"].I.],l- o Bl SofTiav g 'Wi

weaipid 1A r:-,--',fg apatpn’

(Al Blesehing rﬁ'!#ﬂ'df
N ¢hiarine
(C) Ozreme

(D) All the above

Symbol to Tungsten element s |

(A) W
(B) Tl
(C) Te

(D) Tm.

Which of the following mi
of gases are used in

Metals?

(A) Oxygen + Hydrogen
(B) Oxygen + Carbon dm:ﬁbi‘
(C) Oxygen + Methane

(D) Oxygen + Acotylene.



N-2416-Series-A

(53)

thermoplastic?
(A) Nylon
(B) Polythene

(C) P.V.C.

(D) Bakelite.

'160. Which one of the following is

P.T.O.




